1. D] X2¥3
2. The mass of one twelfth (1/12) of the mass of one atom of carbon taken as 12u.

Itisrepresented as 1u.

3. A) 2 atoms of hydrogen + 1 atom of sulphur = 3 atoms. Hence 3 atoms are

present inan H>S molecule.

B). 1 atom of phosphorus + 4 atoms of oxygen = 5 atoms. Hence 5 atoms are

presentinan inn.POi_
4. H:S=2x1:32=2:32=1:16

5.H; represents one molecule of H2 (hydrogen gas) whereas 2H represents two

separateatoms of hydrogen.

6.molar mass of CoH5OH
X X X

X_ {24 + 6 + 16} =46u
7. MgCI2
Ca0

X X

Cu(NO3)2
AICI3
CaCO3

8. It statesthat a pure chemical compound always contain same element combined
together in in same fixed proportion by mass.
This law was put forth by A Lavoisier and Joseph Proust in 1799.
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